GROUPE

CONNECT TO
ENGINE HARNESS

35
SEE NOTES 1& 2
FOR REGULATOR

INFORMATION

Revision: H-5975-D

Date: 2/5/10

Exploded View: FUEL SYSTEM 2.4L G2 22&27TKW

Drawing No.: 0G8814

Page 1 of 2



EXPLODED VIEW: FUEL SYSTEM 2.4L G2 22&27KW

DRAWING #: 0G8814 GROUP E
APPLICABLE TO:

ITEM PARTH# QTY. DESCRIPTION
1 037561 1 NUT WING 1/4-20 NYLK
2 0A5547 1 COVER AIR CLEANER
3 062522 1 STUD TH 1/4-20 X 3 G2 ZNC FULL
4 022127 1 NUT HEX 1/4-20 STEEL
5 059402 1 FILTER ELEMENT
6 091526 4 SCREW PPHM M5-0.8 X 12 ZNC
7 049226 4 WASHER LOCK M5
8 057823 2 CLAMP HOSE #10 .56-1.06
9 047290 1 HOSE 3/8 ID SINGLE BRAID (15" LG)
10 0E6586 2 GASKET BOSCH 32
1" 0E4395 1 ACTUATOR BOSCH 32 GOVERNOR (25 & 35KW)
12 035685 2 CLAMP HOSE #28 1.32-2.25
13 057753B 1 HOSE 1.5 ID X2 LG 20R4 (35KW)
14 051767 4 SCREW HHC M6-1.0 X 45 C8.8 FTH
15 022097 5 WASHER LOCK M6-1/4
16 047527 1 BARBED STR 1/2 NPT X 3/4
17 0E8286 1 STREET EL 45D 1/2 NPT BRASS
18 0G4573C 1 MIXER ACTUATOR 32MM MACHINED (25KW)
19 0E7121 2 O-RING 47.625 ID X 2.38 WIDTH
20 OF7790H 1 VENTURI THROTTLE 19MM (25KW)
22 059057 1 HOSE 3/4 ID SAE-30R2 (18" LG)
23 0G9348 1 ASSY REG INLET NPT FITTINGS
(1) 24 026812 2 ELBOW 90D 3/4 NPT
(1)25 076691 1 NIPPLE PIPE 3/4NPTX4.5 BLK IRN
(1) 26 026915 1 NIPPLE CLOSE 3/4 X 1.375
(1) 27 075580 1 FLANGE FUEL INLET
28 022129 2 WASHER LOCK M8-5/16
29 045771 2 NUT HEX M8-1.25 G8 YEL CHR
30 0D1509 1 DECAL INLET PRESSURE
(2) 31 075436 1 DECAL - FUEL INLET
32 039253 2 SCREW HHC M8-1.25 X 20 G8.8
33 022145 2 WASHER FLAT 5/16 ZINC
34 0F6155 1 HARNESS FUEL JUMPER SINGLE REG
35 0G1397C 1 FUEL REG REWORK 2.4 1800 22/27
36 OE0519A 1 ADAPTER, CARBURETOR W/PVC CONN
37 048031J 2 CLAMP HOSE BAND .63
(1) 38 026490 1 NIPPLE PIPE 3/4NPT X 2

(1) INCLUDED IN I/N 23 (REGULATOR ASY)
(2) FOR LP VAPOR APPLICATION SUBSTITUE LPG FUEL INLET DECAL P/N 050280 FOR NG FUEL INLET DECAL P/N 050279 (ITEM 31).

NOTES:
1. REGULATOR (I/N 35) AS SHOWN IN ILLUSTRATION IS SET UP FOR NATURAL GAS APPLICATION.
2. TO CONFIGURE REGULATOR FOR LP VAPOR, REFER TO THE “RECONFIGURING THE FUEL SYSTEM” SECTION OF THIS MANUAL.

REVISION: H-5975-D Page 2 of 2
DATE: 2/5/10



